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R = woe | BEHEREL EFHjE
A& B kg-CO,/ B {iL) (kg)E
EXFEH=E 7,910,512 | kWh 0.421 | 3,330,326
R (A 27045 L 2.290 61,933
HEH 1,006 L 2.619 2,635
i [XTiH 150,149 L 2.503 375,823
B [#mAR 25201 | m° 2.055 51,788
2 |BIERHAHR(LPG) 51,969 | m® 2.994 155,595
—ﬂﬂﬁ:ﬁ%@ﬁkﬂj (BT SAFYY) 0] t 2,765 0
—BiERFEDHHE (ke) 3,978,100
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R = woe | BEHEREL BH=E
A& B kg-CO,/ B {iL) (kg)E
EXFEH=E 2884077 | kWh 0421 | 1,214,196
R (A o] L 2.290 0
HEH 0 L 2619 0
& [XTiH 206,624 L 2.503 517,180
B [#mAR 0] m 2.055 0
E |[RIEBHRAR(PG) 0] m’ 2.994 0
—ﬂx%ﬂ%o)ﬁ?ﬂj(rﬁjbx%w) 1,056 t 2,765 | 2,919,840
—BiERFEDHHE (ke) 4,651,216
@ PR A D HE KR (£1K) (BT kg)
“RItRFHEE &
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HYUYL DER 61,933 1%
BhE A 2,635 0.03%
KT D15 R 893,003 10%
#HH A D 51,788 0.60%
AL B RA R (LPG) 155,595 3%
BREY D5 2,919,840 34%
&t 8,629,316 100%
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